>
A & 0l & AF 2 E A A

2M A=A

3 MsaY |4
oo M s 2 A EERED

SN FH-SA(EN) - MBAY - BES 0l &k o4 p/E-E" HlnE2

AR A D} 5,649,957 8,210,118 A 2,560,161
= 114,997 114,997 0
J| 839,736 839, 736 0
< 169,219 413,175 A 243,956
s 4,526,005 6,842,210 A2,316,205
Hsad =4 4,952,110 7,625,305 A2,673,195
J| 839,736 839,736 0
< 116,394 386,394 A270,000
[ia 3,995,980 6,399,175 22,403,195
s ds 2 XA 1,667,225 4,264,325 A 2,597,100
< 90,000 360,000 A270,000
[ia 1,577,225 3,904,325 22,327,100
Lol MEHsEia X 0 8,000 A8,000
307 21201 A 0 8,000 A8,000
04 QIZFHALAIH B = 0 8,000 A8,000
OM16sl HEMMEHMSUH &It 0 8,000 A 8,000
Co MEHsUH=ES X3 0 80,000 A80,000
307 glz2tol & 0 80,000 80,000
04 DIZHHALALSE 2 X 0 80,000 80,000
OHM333 Metg MEHsSUH=EE It XN 0 80,000 280,000
detgE M=Eds o XN 0 140,000 A 140,000
307 glz2tol & 0 140,000 A 140,000
04 QIZFHALALH 2 = 0 140,000 A 140,000
OHMe60sl Metdx M=sal &It 0 140,000 A140,000
detgd s ZoHel MsEds ot N2 0 35,000 A 35,000
307 21201 A 0 35,000 A 35,000
04 QIZFHALAIH B = 0 35,000 A 35,000
OXM29al Metdx HOoH M=zl &t 0 35,000 /35,000
detgEZoMaste ot X 0 30,000 30,000
307 21201 A 0 30,000 230,000
04 QIZFHALAIR B &= 0 30,000 230,000
O2021 dctds ZOHAMEBUMSUHE &I X 0 30,000 A 30,000
dg soteld=s0s X 0 15,000 A 15,000
307 gl2tol & 0 15,000 A 15,000
04 DIZHHALALSE E X 0 15,000 A 15,000
OHM21sl 8 =0t M=sEUa &FIt N2 0 15,000 A 15,000
d= BHAZ 3 0 200,000 A 200,000
307 glz2tol & 0 200,000 A 200,000
04 QIZFHALAIH E = 0 200,000 A 200,000
O&= s BHAZ3 0 200,000 200,000
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X ZH -
L= B

el

SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2
SHTAL MSUHE 0 70,000 A70,000
307 21201 & 0 70,000 A70,000
04 RIZHHALAIH 2 & 0 70,000 A70,000
OESEH & AL NEWS 0 70,000 70,000
d= s7203 0 240,000 A 240,000
307 21201 & 0 240,000 A 240,000
04 QIZFHALALH 2 = 0 240,000 A 240,000
OXd=IHUSE=sT7UE 0 240,000 A 240,000
d= =32 Ug 100,000 330,000 A 230,000
307 glztol & 100,000 330,000 A 230,000
04 QIZ2HSHALALE B £ 100,000 330,000 A 230,000
O&=Uts=-03 100,000 330,000 230,000
E o2 MU iz A& 20,000 80,000 A 60,000
307 glztol & 20,000 80,000 A 60,000
04 QIZ2HEHALALE B = 20,000 80,000 A 60,000
Ok &9 M=sUs M 20,000 80,000 A 60,000
d=A2H=s02 £ dMAEZ=ME X2 20,000 60,000 A 40,000
& 20,000 60,000 A 40,000
201 ¢er24| 20,000 60,000 A 40,000
< 20,000 60,000 A 40,000
03 A2 ZHl 20,000 60,000 A 40,000
Od=Msr=70Uz2 0 20,000 A 20,000
=) 0 20,000 A 20,000
OF=UESEHA A &H =R TH 2 0 20,000 /20,000
< 0 20,000 A20,000
detg s = € N2 46,500 1,515,600 A 1,469,100
< 0 300,000 300,000
[ia 46,500 1,215,600 A 1,169,100
201 LEr2A | 3,420 41,420 A 38,000
01 Ar2 22l bl 3,420 41,420 /38,000
OdEHE ZINE D29 g2 0 38,000 A 38,000
—3JE 2EMA U £ 0 11,000 A 11,000
—ZJE AU geas EY 0 12,000 A 12,000
— 3 ZA9N0IE U £ 0 15,000 A 15,000
206 M= Hl 0 13,500 A 13,500
01 M= dl 0 13,500 A 13,500
OZZ2ULH9 gHAEE +& 0 13,500 A 13,500
—EA=SH 7Y 0 3,500 A 3,500
—0tA23 2 0 10,000 A 10,000
307 glz2tol & 41,400 1,459,000 A 1,417,600




2H: AEINUD
Y HSNY |4
o9l HS 2 2 N CER-ED
2N -3 -2 (SH) - NHEAMY - BES Off &4 I E M Hwsz
= 0 300,000 300,000
2 41,400 1,159,000 A1,117,600
02 QIAFMALET 41,400 72,000 230,600
O+ M4 22 U SH(ELY)
300, 0002 *2381 x6 2 41,400 72,000 230,600
04 RIS AAL B T 0 1,387,000 A 1,387,000
ORXI608l Metd TSRS sl N 0 1,387,000 A1,387,000
= 0 300,000 300,000
2 0 1,087,000 A 1,087,000
H2 g3 sl 160,000 160,000 0
= 50,000 0 50,000
2 110,000 160,000 250,000
307 QI2+0| ™ 160,000 160,000 0
= 50,000 0 50,000
2 110,000 160,000 A50,000
04 QIZHAAIR 2 T 160,000 160,000 0
OF2 g7 d27 U3 160,000 160,000 0
< 50,000 0 50,000
2 110,000 160,000 A50,000
D2UHY ASUMTA (MFAE) 20,000 0 20,000
= 20,000 0 20,000
301 LB FHI 20,000 0 20,000
= 20,000 0 20,000
IEEEEEYE! 20,000 0 20,000
ODR2LHY ASIUAMNAZ(MSAL) N (4
2H) 1,000, 000! *507H 4 *40% 20,000 0 20,000
= 20,000 0 20,000
MSAL =5 130,320 182,320 A52,000
OIS MSAL X2 100,000 152,000 52,000
401 A& HIL 2O bI 100,000 152,000 52,000
01 Al& I 100,000 152,000 A52,000
02 ASHIESH LA 0 52,000 A52,000
ZeSALTR 2,651,509 2,675,604 A24,095
p] 600,000 600,000 0
= 20,000 20,000 0
2 2,031,509 2,055,604 ~24,095
ABAHLYT B 293,878 317,973 ~24,095
101 1218l 46,106 70,201 ~24,095
YEIEEESETPS 34,206 58,321 24,095
OMU+YE +YAAM(AHRE) 7,023 31,118 ~24,095
=3 (BY) 79,8002 1% +772 6,145 20,190 A 14,045
—Fg834% 79,8002 ¥ 12 *113 878 4,230 ~3,352
— Rl 0 798 AT798
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2N
X ZH -
L= B

el

AZE AR
MZ U BEIAMEL e
AZSMOIERIE

SA-EH A (SA) - MRAE - BES Off &k 24 I EH Husz

| = 2,000 0 2,000

SEANL 23L4NE3 N 13,400 0 13,400

= 13,400 0 13,400

301 Y A3 13,400 0 13,400

= 13,400 0 13,400

01 ABI 2 B H 452 13,400 0 13,400

ORSAL ATULNES N8 (4YH) 13,400 0 13,400

= 13,400 0 13,400

AZFMYL YASE(DAT S) N 10,644 0 10,644

= 10,644 0 10,644

206 T 2 H 10,644 0 10,644

= 10,644 0 10,644

01 HEHI 10,644 0 10,644
OAMEZAYL HASE (0423 S) XY (&

§A) 10,644 0 10,644

= 10,644 0 10,644

WREs(AEXMLD) 120,697 21,907 98,790

SENE 120,697 21,907 98,790

2 EHEES #e3 120,697 21,907 98,790

802 Btet 2| Ef 120,697 21,907 98,790

NIENEE ST 119,288 21,907 97,381

02019 94,349 0 94,349

—HUAZ DE DH L AENM 14,169 0 14,169

—HUAZE 3E DH L AENE(OIR) 879 0 879

—FBATEIS HMSAE SHZA 29,272 0 29,272

—QABARES HMIAIL SABA(0IX) 613 0 613

~YPALES HMSAL BA H2H A Y 48,630 0 48,630
—ABATEIS MSAL WA W2 A(

Ol Xt) 786 0 786

02020 3,082 0 3,032

— XA JIEA MRl X & 29 0 29

— XXA JIES M2l X (0 XH) 2 0 2

—0l2I0l JISAE Me@ele #SHI(01X) 4 0 4

-~ Y2Z OE0ISAB2ANBLE 2H (0K 137 0 137

—AEXLH0ISA N 2,086 0 2,086

—AEXAFO0IEA N (0IX) 84 0 84

- ZojQrExLHOIS N 676 0 676

—ZjeAZEAHOISA XS (0IX) 14 0 14

02 Al - SHIEZZere g 1,409 0 1,409

02020 1,409 0 1,409

— XA JIEA MRl X & 10 0 10

—0l20l JISAE Me@ele S (01X) 1 0 1
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